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(2) 3503/(Set : A)
° YA g7 F FUY 37 G {4 T W#@fﬂ?#ﬁgﬂf&ﬁ@??ﬁ%ﬁ
IYUT 37 T § 25 A aar :/37‘ R i3
Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G (7397 -
General Instruction :

() @ FeT S &

All questions are compulsory.

(i) STFTEHTFTI2WTETFawae o, § goRvadae @Be:
This question paper consists of 32 questions in all which are
divided into four Sections : A, B, Cand D :

G 9 59 G F 1 716 7% ZT 16 F97 &, J&% F97 1 % & 81
Section A : There are 16 questions from 1 to 16, each of 1 mark.

G § 39 % 417 @21 7% 37 5 597 &, J9% F97 3 3% % &/
Section B : There are 5 questions from 17 to 21, each of 3 marks.
g€ T : 59 7T 422 § 27 7% FT 6 F97 &, J9% J97 & 5% # &l
Section C : There are 6 questions from 22 to 27, each of 4 marks.
GUE T : 59 G5 728 7 32 7% FA 5 F97 &, J9% FT 5 5% #H &l

Section D : There are 5§ questions from 28 to 32, each of S marks.

(i) @Y€ T 7 & o7 F oan® ey 9 T &1 377 @ G J97 @ g &
Section D contains two questions where internal choice have been
provided. You have to choose one of them.

gug -
SECTION - A
12 3T 20 % HCF X LCM § d¥ BN : 1
(A) HCF > LCM (B) HCF < LCM
(C) HCF = LCM (D) 38 9§ Pz 7l

3503/(Set : A)
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(3) 3503/(Set : A)
The relation between HCF and LCM of 12 and 20 will be :

(A) HCF > LCM (B) HCF < LCM
(C) HCF =LCM (D) None of these
2. I ¥ HH-91 9gH (Polynomial) B ? 1
& B) Vx+2
x+1
(C) 2; (D) x> +1
xXx“+2x+7
Which one is polynomial ?
a (B) x+2
x+1
1 3
) ———— D) x°+1
x2+2x+7
3. FHECT ax+by+c; =0 AR ayx+by+c, =0 F AR a_h,a
ay by ¢
Frefoed & SF-a1 @ & ? 1
(A) wfo=BT & & W@l (B) HUM! W@N
(C) HHTY Y@ (D) 3T & Hi§ Tel
If in equations a;x+bjy+c; =0 and a,x+byy+c, =0, ﬂ:ﬁiﬂ’
ag by ¢
then which of the following is true ?
(A) Intersecting lines (B) Coincident lines
(C) Parallel lines (D) None of these
4. 3T § -G A P. 0 2 ? 1
(A) 2,4,8,12, ... (B) 0.2,0.22,0.222, ....
(¢) -10,-6,-2,2, ...... D) 1,3,9,27, ......
Which one is A. P. series ?
(A) 2,4,8,12, ... (B) 0.2,0.22,0.222, ....
(¢) -10,-6,-2,2, ...... D) 1,3,9,27, ......
3503/(Set : A) P.T.O.
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(4) 3503/(Set :

5. A.P.10,7,4,...% 303 @ ® : 1
(A) 97 B) 77
© -77 (D) ¥ & & Tl
In an A. P. 10, 7, 4, ...., 30th term is :
(A) 97 (B) 77
Cc) =77 (D) None of these

6. B & W ¥ § H-A1 I q9EY 7@ © ! 1

(A)

80° 407\ c 0 80° 40°%/ R

A
/D
/\
A
®) Q/i .
B C Q

P
6 5
7—R
D
4 i6
E F
5
P
(D) 2.5ﬁ 5 s
L Ah
N QPR

Which one pair of the triangulars is not similar triangles ?
(A) A

P
/>
3503/(Set : A)B 800 40C 0 80° 400/ R
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(5) 3503/(Set : A)

(B)

(€)

(D)

7. 2 THEY RIS & &A%l H ST 5 : 35, O I G SIS H SN ©
1
(A) 5:3 B) 25:9
(C) 9:25 (D) V5 :4/3
Area of two similar triangles are in the ratio of 5 : 3, then the ratio of their
corresponding sides is :

(A) 5:3 B) 25:9
(C) 9:25 (D) V5 :4/3

8. g0 & e} R el g & g0 W il 8 Wt @l & qe § 1
(A 1 (B) 2
(€) O (D) 4

Number of tangents drawn from a point outside the circle are :

3503/(Set : A) P.T.O.
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(6) 3503/(Set : A)

(A) 1 (B) 2
€ 0 (D) 4
9. Rad @M «X : 1
TH T B eevreennnns AT wet @ & w8
Fill in the blank :
A circle can have ........... parallel tangents at the most.
10. fg PG, - 4) T agaia & Rea B ? 1
(A)  F=H B) faim
(€ T (D) =gd
Point P(6, — 4) lies in which quadrant ?
(A) First (B) Second
(C) Third (D) Fourth

11. &gl (-1, 7) R (4, -3) & AN Al YOEs & A g & Faees € ¢ 1
o (3 w3

3 3
@ (32 o [23)

Coordinate of mid point of line joining two points (-1, 7) and (4, —3) are

3503/(Set : A)

Downloaded from cclchapter.com



(7) 3503/(Set : A)
@ [3-2) o 23

12. SaRC fh 9 B @ ® @ o 1
“fpet ot T 0 % fo cos@z%”
State whether the following statement is true or false :

"cos 0O = 3 for some angle 6"

13. TRC % = # @9 & O o7 : 1
“sin 6 = cos 6 @ 6 % WMl W”
State whether the following statement is true or false :

"sin @ = cos 0 for all values of 6"

14. B R 990 & S BEUEs & 8% STHE HI9T 6° &, B0

@A) -2 xorR B) — xxRr?
180 180

© - xonr D) -2 xzR?
360 360

Area of a sector of angle 6° of a circle with radius R will be :

@A) -2 xonR B) -2 xzR?
180 180

© -2 xorr D) -2 xzr?
360 360

15. T 9ig & oTEN & Bl 4 & oK S 3 @ &, O S o a6 Rl ¢
=7
T=—/| 1
7

3503/(Set : A) P.T.O.
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(8) 3503/(Set : A)

(A) 20 q4° (B) 207 >
(C) 30m & (D) & ¥ #g T
The radius of the base of a cone is 4 cm and the height is 3 cm. Its
CSA is (n = §j :
7
(A) 20 cm? (B) 20m cm?
(C) 30m cm’ (D) None of these
16. T H TH SN b TN, HCAT 8 ST i Wiehal arfl :1
1 1
A) 1 B) O Cc) = D) —
(A) (B) (©) e (D) 5
Probability of getting 8 in a single throw of a die is :
1 1
A) 1 B) O C) = D) —
(A) (B) - (B) 7
geeg - §
SECTION - B
17. R AT & V5 Th FuRAY de B 3

Prove that \/g is an irrational number.

18. U% fZHId 9gU= &1 Hifog /s el & A q°l [OF% shAsl: % X -1 2
3
Find a quadratic polynomial with the given number as the sum and

product of its zeroes respectively are %and -1.

3503/(Set : A)
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(9) 3503/(Set : A)

19. 90 I %I TS drcil Th el ocd T Th @9 & AER § W 1.2 41/ & =
q T W2 AR g g § 3.6 W H HAR W T, O 4 TF°S 9% 39 A5 H
BT &l 1 S i 3
A girl of height 90 cm is walking away from the base of a lamp-post at a
speed of 1.2 m/s. If the lamp is 3.6 m above the ground, find the length
of her shadow after 4 seconds.

20. IR A, BAR CBRE ABC& s &, dr fen fF :

3

’ (B + Cj A

sin = Ccos—

2 2

If A, Band C are interior angles of a triangle ABC, then show that :

. (B + Cj A

sin = Ccos—

2 2

21. 0% qO@R  @d W 25 Fo N HieX & X § 918 TN & @& 5,275 o &, A
g & Y e 3
The cost of fencing a circular field at the rate of Rs. 25 per meter is, Rs.
5,275. Find the diameter of the field.

qrg - 4
SECTION-C
22. T FHHN &l B ST 4
0.2x+0.3y=1.3
0.4x+ 0.5y =2.3
Solve the following equations :
3503/(Set : A) P.T.O.
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23.

24.

25.

26.

27.

28.

(10) 3503/(Set : A)
0.2x+ 0.3y = 1.3

0.4x+ 0.5y = 2.3

& AN AT Ok S ifoie e @t &1 4N 365 Bl 4

Find two consecutive positive integers, sum of whose squares is 365.

AN ol arll et g 7 | faury 2 ? 4

How many three digit numbers are divisible by 7 ?

s #ife 6 & b= gai § 98 g & Siiar St Bl g9 B Wl Hl §, W
fig W wHfEwIG Bt ol 4

Prove that in two concentric circles, the chord of the larger circle, which
touches the smaller circle, is bisected at that point of contact.

T F 52 T H T e d Bl T TH TSl § § TH G el Sl §l
T 1 SESME W HIA bl AT S i 4

One card is drawn from a well-shuffled deck of 52 cards. Find the
probability of getting a king of red colour.

k@ A 79 Hiw, AR &g A2, 3), B4, kIR C6, -3) W& d 4
Find the value of k if the points A(2, 3), B4, k) and C(6, —-3) are
collinear.
geg - §
SECTION-D

N T Ul AR AW % SR g9 €699 & Sl o=, Ges 8 g 8l
3 SHSH 85%ha 800 |12 &, & STl =g X AeE g Hew 5

3503/(Set : A)
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29.

30.

31.

(11) 3503/(Set : A)

Is it possible to design a rectangular mango grove whose length is twice
its breadth and area is 800 m?? If so, find its length and breadth.

FIaEH sec?0-tan? 0 =1 & YA F, Hx HoC & : 5

sin@+cos6-1 _ 1
sin®—-cos0+1 secH+tand

sin@+cos®-1 1
sin®—cos0+1 secH+tand’
sec20—tan26:1.

Prove that

using the identity

AYqr
OR

1.2 #f @S T T g @ 88.2 W & HaAk W UH Aol @ § g A I$ @
TER & 3G ol fBE o & dSd H g d [ER F IE BT 60° F ol
HB G 918 I HOT HTHT 30° & S 81 3@ FWA & AR [ER BN T
P TS T A i

A 1.2 m tall girl spots a balloon moving with the wind in a horizontal
line at a height of 88.2 m from the ground. The angle of elevation of the
balloon from the eyes of the girl at any instant is 60°. After some time,
the angle of elevation reduces to 30°. Find the distance travelled by the
balloon during the interval.

7.6 Gl ST T (@ES Gt R 3/ 5 : 8 U H fasiira a2 W &
T R T @ i @ A 5

Draw a line segment of length 7.6 cm and divide it in the ratio 5 : 8.
Measure the two parts. Give the justification of the construction also.

foarett 5.5 99t X 10 99t X 3.5 QU 91T Th &9 9 & [T 1.75 991 A9
AR 2 fopft Ao o fohew =1dl & el B MEAT @M ? 5

3503/(Set : A) P.T.O.
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32.

(12) 3503/(Set : A)
How many silver coins 1.75 cm in diameter and of thickness 2 mm must
be melted to form a cuboid of dimensions 5.5 cm X 10 cm X 3.5 cm ?

Pl @@ & B X @ 51 TEfRA B HARdl B TH GAEOT R T SR
Frfaraa offds <t e T 5

Sarg (3 #) | 140 ¥ 145 @150 & 155 || 160 &|165 A
FH | BH | BH | BH | FH | BH

il @ 9= 4 11 | 29 | 40 | 46 | 51
Wegh HAR ST BT

A survey regarding the heights (in cm) of 51 girls of class X of a school

was conducted and the following data was :

Obtained height | Less Less Less Less Less Less

(in cm) than140|than145|than150than155than160than165

Number of girls 4 11 29 40 46 51

Find the median height.

HAYqT
OR

=i Al [l Aieed & 25 IRAT & Ao W gY ae &g H a9l o

% @™ (89 )| 100-150|150-200[200-250(250-300/300-350

qRERi @ e 4 5 12 2 2
SugH faf ERT SISH W geT A FY S i

The table below shows daily expenditure on food of 25 households in a
locality :

3503/(Set : A)
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(13) 3503/(Set : A)

Daily Expenditure (in Rs.)|100-150|150-200200-250|250-300|300-350

No. of households 4 ) 12 2 2

Find the mean daily expenditure on food by suitable method.

3503/(Set : A) P.T.O.
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o U T FX T F 5 TeT-T F FRT 597 32 &

Please make sure that the printed question paper are contains
32 questions.

o U9T-UF H alle & @ Y /9 T4 HE T T G # GH TACdH F JEI-
g g7 forg)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o FYT 7 F FH [TET & FVT G Gec, J9T B FHE ST [rE
Before beginning to answer a question, its Serial Number must be written.

o Fuv-giaHE & diT 7 @l G/ 7 T 88/

Don'’t leave blank page/pages in your answer-book.

. WW%WW#?W?}?E?@?W/ ST STRTRATA & g 3 forar
FTT 7 FE

Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GOETE YAl T To FIT-YH T Sae g
Candidates must write their Roll Number on the question paper.
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(2) 3503/(Set : B)
° YA g7 F FUY 37 G {4 T W#@fﬂ?#ﬁgﬂf&ﬁ@??ﬁ%ﬁ
IYUT 37 T § 25 A aar :/37‘ R i3
Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G (7397 -
General Instruction :

() @ g7 Sard &

All questions are compulsory.
(i) STFTEHTFTI2WTETFawae oy, § govadae Be:
This question paper consists of 32 questions in all which are

divided into four Sections : A, B, Cand D :
G 57 G F1 G 16 T T 16 F97 &, 9% J97 1 6% #T &1
Section A : There are 16 questions from 1 to 16, each of 1 mark.
g€ §: 37 %€ 417 @21 7% 7 5 797 &, J9% 797 3 3% # &
Section B : There are 5 questions from 17 to 21, each of 3 marks.
G G : 57 G5 § 22 § 27 7% A 6 F97 &, A% J97 & 7% & &
Section C : There are 6 questions from 22 to 27, each of 4 marks.
@Y€ T : 59 G5 728 7 32 7% FT 5 F97 &, J9% FT 5 5% #H &l
Section D : There are 5 questions from 28 to 32, each of S marks.
(i) GT T F & Fo7 F SE A% _RF T &1 IFH @ G J97 F A &1

Section D contains two questions where internal choice have been

provided. You have to choose one of them.

gus -
SECTION — A
1. IR a AR b3 T TN% &, af 37 LCM 3R HCF & T BT 1
(A) LCM > HCF (B) HCF > LCM
(C) HCF = LCM (D) 38 9§ Pz 7l

3503/(Set : B)
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(3) 3503/(Set : B)

If a and b are two positive integers, then the relation between their LCM
and HCF will be :

(A) LCM > HCF (B) HCF > LCM
(C) HCF =LCM (D) None of these
. ¥ ¥ F9-91 GgRQ (Polynomial) & ? 1
1
(A) b B) x3+2
x+1
© — D) x++2
x“+1
Which one is polynomial ?
1
(A) b B) x3+2
x+1
© — D) x++2
x“+1
. FHECT ayx+by+c; =0 AR asx+byy+cy =0 g i ﬁ:ﬁzc_l, ar
ap by co
Frefeied & S-a1 FF e ? 1
(A) ST Y (B) WU Y@M
(C) §HiTX @M (D) T & H Tl

. . b
If in equations a;x+bjy+c; =0 and ayx+byy+cy =0, G a
az by ¢

’

then which of the following is true ?

(A) Intersecting lines (B) Coincident lines
(C) Parallel lines (D) None of these

4. 3T § B4 A, P. 90 B 7 1
(A) 2,4,8,12, ... (B) 0.2,0.22,0.222, ....
(¢) -10,-6,-2,2, ...... D) 1,3,9,27, ......
Which one is A. P. series ?
Aa) 2,4,8, 12, ... (B) 0.2,0.22,0.222, ....
(¢) -10,-6,-2,2, ...... D) 1,3,9,27, ......

3503/(Set : B) P.T.O.
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(4) 3503/(Set : B)

5. A.P.-10,-6,-2,2, .... & 2031 T& 2 : 1
(A) 66 (B) -66
©) 77 (D) = & &3 &
In an A. P. =10, -6, -2, 2, ...., 20th term is :
(A) 66 (B) -66
(C) 77 (D) None of these
6. BT & W ¥ § H-A1 I G9EY 7@ © ! 1
A P

/N
(A) 60° 60°
B 80° 407\ C 0 80° 40°,

0 R
p
A
(B) Qi is 6 5
C R
B 2.5 Q 7]
L D
" A 1N
M P
)
E 5 F
P
oN /\
N L 70°
Q 10 R

3503/(Set : B)
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(5) 3503/(Set : B)

Which one pair of the triangles is not similar triangles ?

A

AN

() as
5 A80° 407N\ ¢

A
(B) i
2 3
B 2.5
L
©) i
2.7 3
M 5 P
(D)
2.5 5

7. AR A TAEY By @ el & SU 3 : 2 B, @ % &=Ga # OTU ®
1

P
/6%\\
o 4°
0 80 0 R
P
AS
C R
Q 4
D
4&
F
E 5
P
/\
\/0° R
Q 10

A) V3:42 (B) 2:3
(C) 9:4 (D) 3™ & FE &

If the ratio of the sides of two similar triangles is
3 : 2, then the ratio of their areas is :

A) 3:42 (B) 2:3
C) 9:4 (D) None of these
3503/(Set : B) P.T.O.
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(6) 3503/(Set : B)
8. I0 & X Rerd frdll fag @ 90 W dfel & wel 1@l & den ® ;1

(A) 1 (B) 2
(€) 0 (D) FH & P T
Number of tangents drawn from a point inside the circle is :
(A) 1 (B) 2
(C) O (D) None of these
9. T g P fbal wst @ & gkl ¥ ? 1
(A) 1 (B) 2

(C) RFT® T F§™E (D) O

How many tangents can a circle have ?

(A) 1 (B) 2
(C) Infinitely many D) O
10. fg Q(-3, -4) frq aqefer & R & 7 1
(A) (B) T
(C) fecia (D) =gd
Point Q(-3, —4) lies in which quadrant ?
(A) First (B) Third
(C) Second (D) Fourth

11. &Fga (-5, 7) AR (5, -7) & fam 9l YerEs & 7 g & Feais 8 ;1

@A) (5,7 (B) (0,0)
€) (0,7) (D) (5, 0)

3503/(Set : B)
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12.

13.

14.

(7) 3503/(Set : B)

Coordinate of mid point of line joining two points (-5, 7) and (5, —7) are

@A) 5,7 (B) (0,0
(€) (0,7) (D) (5, 0)

SART 6 7 R A T T o 1
“tan A % 9 Geg —1 X 1 & &9 &rar 8”7

State whether the following statement is true or false :

"The value of tan A is always lies in between —1 and 1"

TR 6 S R & B A o 1
“A=0°T cot ARG T B”

State whether the following statement is true or false :
"cot A is not defined for A = 0°"

B rae gq & 96 Beuds & G A9 P dd ST BT 6° §, e 1

(A) anrQ (B) LxQnr
360 360

(©) %xQnr (D) =8 T Fi3 &l

Length of an arc of a sector of angle 6° of a circle with radius r will be :

B) - xnr? B) - xonr
360 360

(C) i>< 2nr (D) None of these
180

3503/(Set : B) P.T.O.
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(8 3503/(Set : B)
15. @W%aﬂmaﬁrﬁw4ﬁaﬁ?ﬁﬁmmsﬁ% q SHH IR SFAEA

BT : 1

(A) 20 q9° (B) 20m

(C) 30m TP (D) 80m T

The radius of the base of a cone is 4 cm and slant height is 5 cm. Its
CSAis :

(A) 20 cm® (B) 20w cm?

(C) 30mcm? (D) 80w cm?

16. UH & UH S B U, G&T 6 ST &l WiAhdl anf -1

A 1 B) O
1 '

© ¢ (D) T & &3 &
Probability of getting 6 in a single throw of a die is :
(A) 1 B) O

(C) % (D) None of these

gre - §
SECTION - B
17. fs @i % V7 % sy de B 3

Prove that \/7 is an irrational number.

18. @@WWWWWM%WWWW%%@T4%IS

3503/(Set : B)
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(9) 3503/(Set : B)

Find a quadratic polynomial with the given number as the sum and

product of its zeroes respectively are %and 4.

19. CM 31X RN $H: AABC R APQOR & #iftgehd & I AABC ~ APQR &, @
g #IfvTT 6 AAMC ~ APNRI 3

CM and RN are respectively the medians of AABC and APQR. If AABC ~
APQR, prove that AAMC ~ APNR.

20. 1210°° & o R 3
cot25°
Find the value of :
tan 65°
cot25°

21. % JOHR O NEH &A@ 10 HeX & H 1.50 Fo A I #ieX H W § JAB
FE S ol O H AR BT F Gl A BT 3

Find the cost of ploughing the circular field having diameter 10 meter

and rate of ploughing is Rs. 1.50 per square meter.

gE - g
SECTION -C
22. FfaRag glietel &l & HioT ¢ 4
3x-y=3
x-y=4
3503/(Set : B) P.T.O.
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23.

24.

25.

26.

27.

(10) 3503/(Set : B)

Solve the following equations :
3x-y=3

x-y=4
et & HeEd S| i S A 27 & ofX Towd 182 Bl 4

Find two numbers whose sum is 27 and product is 182.

10X 250 % 919 § 4 % e o1 & ? 4

How many multiples of 4 lie between 10 and 250 ?

R #ife % & d@=a gof & S8 ga &1 Sffar off Bic gq & @l F 8, W
fig W wHfEwE Bt 21 4

Prove that in two concentric circles, the chord of the larger circle, which
touches the smaller circle, is bisected at the point of contact.

qT H 52 T B W WE d Bol T TH Tgel H § T Tl R Sl ol
TR Tl Ol T &3 &l Mehal S it 4

One card is drawn from a well-shuffled deck of 52 cards. Find the
probability of getting a face card.

k& A9 S S, At g A8, 1), Bk, —4) $iR C(2, -5) @@l 8l 4
Find the value of k, if the points A(8, 1), Bk, —4) and C(2, -5) are
collinear.
gig - §
SECTION-D

3503/(Set : B)
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(11) 3503/(Set : B)
28. 7 =1 Rafqy @@ B 7 ot B A S0 oM oY S ot &1 Rl B oty
AT 20 99 31 IR qY Q@ I oY (T H) B P 48 o 5

Is the following situation possible ? If so, determine their present ages.
The sum of the ages of two friends is 20 years. Four years ago, the
product of their ages in years was 48.

29. TAGMH cosec A —cot? A=1 & TN &, g i % : 5

cCosA-sinA+1
cosA+sinA-1

=cosec A+cotA

A-sinA+1 . . .
Prove that -2 s%n =cosec A+cotA, wusing the identity
cosA+sinA-1

cosec 2A - Cot2 A=1.

HAYqT
OR

Th T H A & T g 9 T & @ R $ SEE R0 FA 30° $R
45° %1 A g fFRE @ 3 W @ HEE W, A T B ASE AT B

From a point on a bridge across a river, the angles of depression of the
banks on opposite sides of the river are 30° and 45°, respectively. If the

bridge is at a height of 3 m from the banks, find the width of the river.

30. 4 &, 5 & ol 6 T el I uw Brge @ @ i iR R 3Ed awed
@mﬁrﬁaaﬁwaﬁﬁiﬂ,ﬁlﬂﬁgmﬁmwﬁaﬁﬁ@ﬁgwﬁeﬁgﬁ
SIRCEIEIIE e I S 5

3503/(Set : B) P.T.O.
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Construct triangle of sides 4 cm, 5 cm and 6 cm and then a triangle
similar to it whose sides are % of the corresponding sides of the first

triangle. Give the justification of the construction also.

31. Bredr 4.2 AWl A% 41g F Th Mol B UEABL BoAT 6 AR Th So B @9
¥ oI I B AT Bl HEAE G BT (n:%j 5

A metallic sphere of radius 4.2 cm is melted and recast into the shape of

a cylinder of radius 6 cm. Find the height of the cylinder. (n = %)

32. T% VY F 40 TRET H A Feheaq Hendiel ¥ Al Sl ¥ qRm o Arhel
frrfoiea arell & =9 § e 6 o & 5

ders (Beft &) | 117.5- | 126.5- | 135.5- | 144.5- | 153.5- [162.5- 171.5-

126.5 | 135.5 | 144.5 | 153.5 | 162.5 |171.5| 180.5
ufwat @ §em| 3 5 9 12 5 4 2

gl @ e AR S i

The lengths of 40 leaves of a plant are measured correct to the nearest

millimetre and the data obtained is represented in the following table :

Length 117.5-|126.5- | 135.5- | 144.5- | 153.5- |162.5- 171.5-

(in mm) 126.5 | 135.5 | 144.5 | 153.5 | 162.5 |171.5| 180.5
Number of 3 5 9 12 5 4 2
Leaves

Find the median length of the leaves.

HAYqT
OR

3503/(Set : B)
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frfafag de57 tF Ao & I== B AE 99 T9 9T 81 A 99 &d 18 Fo
2l 9 SRARAT f 7 BN

A% Sig s (B9 H)|11-18] 13-15 [15-17| 17-19 | 19-21 [21-23]23-25

e B GEA 7 | 6 9o | 13| F | 5| 4

The following distribution shows the daily pocket allowance of children
of a locality. The mean pocket allowance is Rs. 18. Find the missing
frequency f:

Daily Pocket Allowance|11-13| 13-15|15-17|17-19|19-21|21-23[23-25
(in Rs.)

Number of Children 7 6 9 13 f 5 4

3503/(Set : B) P.T.O.
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Roll No. SET : C

UMK

MATHEMATICS
(Academic/ Open)
[ &=t TF St A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

&7 3 g7 | [ {7% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

o FUI T F G [ $7 FT-99 7 JRT 597 32 &

Please make sure that the printed question paper are contains
32 questions.

° U97-YF H glle & % T 77 T4 HS T_Y T G # EFH TACYRaH % JEF-
= g7 frdy
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o FYT T F T [TGT & FVT G Y&, T B FHE T [7E
Before beginning to answer a question, its Serial Number must be written.

o Fuv-giaHE & diT 7 @l G/ 9 7 88/

Don’t leave blank page/pages in your answer-book.

. mﬁw%&ﬁ%}‘?ﬁcﬁs‘msﬁa’ﬁ@#/ ST ST & g diT frar
FTT 7 FC

Except answer—book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GAEEl STy R To JeT-TH YT avy frd)
Candidates must write their Roll Number on the question paper.
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(2) 3503/(Set : C)
° U FIT F TG 37 @ (@ IF grad #Y @ [ 79T g7 T 78 8, e &
IYUT 37 T § 25 A aar 7&} BT S

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G (7397 -
General Instruction :

() @ g7 Sard &

All questions are compulsory.

(i) FTTTHTFTI2 T E N F AT Gl o § T T 7 ae 78 -
This question paper consists of 32 questions in all which are
divided into four Sections : A, B, Cand D :

G 57 G F1 G 16 T T 16 F97 &, 9% J97 1 9% & &1
Section A : There are 16 questions from 1 to 16, each of 1 mark.

€ §: 37 %€ 417 @21 T 75 797 &, 9% 797 3 3% # &
Section B : There are 5 questions from 17 to 21, each of 3 marks.
G G : 57 G5 § 22 § 27 7% A 6 F97 &, A% J97 & 7% & &
Section C : There are 6 questions from 22 to 27, each of 4 marks.
G T ;37 G 728 § 32 7% 7T 5 F97 &, A% J97 5 3 # &

Section D : There are § questions from 28 to 32, each of 5 marks.

(i) G T F & Fo7 F SakE A% _RF T4 &1 ITH @ G J97 F A &1
Section D contains two questions where internal choice have been
provided. You have to choose one of them.

oS - &
SECTION - A
1. & &% Qo & LCM IR HCF & =g B8R @ 1
(A) HCF > LCM (B) HCF = LCM
(C) LCM > HCF (D) T8 9§ Pz 7l

3503/(Set : C)
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The relation between LCM and HCF of two positive integers will be :

(A) HCF > LCM (B) HCF = LCM
(C) LCM > HCF (D) None of these
2. I ¥ HH-91 9gHE (Polynomial) B ? 1
A) Jx+1 (B) 31
x° +1
(C) 21 D) x3+1
x“+1
Which one is polynomial ?
A) Jx+1 (B) 31
x° +1
(©) 21 (D) x°+1
x“+1
3. TN ayx+by+c; =0 Rk arx+byy+c, =0 H IR a_b_oa ,
ap by ¢
Frfeife & a1 e ? R
(A) o Y@ (B) icresfid Y@m
(C) |HIGR @Y (D) 3T & &3 &l

If in equations a;x+bjy+c; =0 and ayx+byy+cy, =0, —=—=—,

2 by ¢

then which of the following is true ?
(A) Coincident lines (B) Intersecting lines
(C) Parallel lines (D) None of these

4. TH G S8 A P. IR B ? 1
A a a?, a3, .. B) 12,32%,5%,72 ...
(C) a, 2a, 3a, 4aq, ...... (D) 1,3,9,27,......
Which one is an A. P. series ?
A a a’, a3, .. (B) 12,32%,5%,72 ...
(C) a, 2a, 3a, 4aq, ...... (D) 1,3,9,27,......

3503/(Set : C) P.T.O.
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5. A.P.2,7,12,...% 103l |® ® : 1
(A) -47 (B) 47
(C) 57 (D) = & &3 &
Inan A.P. 2,7, 12, .... 10th term is :
(A) -47 (B) 47
(C) 57 (D) None of these

6. BT & W ¥ § H-A1 I G9EY 7@ © ! 1

D P

(A) 70° Z\
E 80 F 0 80° 30% R
A
AN
(B)
B VANe
A
7

P
80° 40°
Q R
P
C
VAN
B
2.5
Q 7 R
D
/\
E z F

%

'm'
o O
N
(@]

P

C
® 2N\
L M

2

3503/(Set : C)
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Which one pair of the triangles is not similar triangles ?
D

P
; o Z\
ELO P oh80 307\

A P
(B) g8 407 c Kk
Q R
A P
2
2.5 Q o R
p D
o "
2
E - F
7. X THET B B oS H STUT 4 : 9 B T BYS B AEA H SIS © ¢
1
(A) 2:3 B) 4:9
(C) 81:16 (D) 16 : 81

Sides of two similar triangles are in the ratio 4 : 9. Areas of these triangles
are in the ratio :

A) 2:3 B) 4:9
(C) 81:16 (D) 16 : 81
3503/(Set : C) P.T.O.
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(6) 3503/(Set : C)
8. 30 & HW R g & g0 W forat wet W@ &= @ & 7 1
(A) 1 B) 2
(C) TURFE &7 § W& (D) 38 9 Fis 7Tl

How many tangents are drawn from a point on the circle ?

(A) 1 (B) 2
(C) Infinitely many (D) None of these
9. gq & fHEl fig W sl Yar wel g § o gt B & s & Fior 8 1
(A) 45° (B) 90°
(C) 180° (D) 60°

The tangent at any point of a circle makes an angle to the radius
through the point of contact :

(A) 45° (B) 90°
(C) 180° (D) 60°
10. 55 P(3, 4) foom aqgata & feq B ? 1
(A) weH (B) fadd
(€) g (D) =gd
Point P(3, 4) lies in which quadrant ?
(A) First (B) Second
(C) Third (D) Fourth

11. fegel (g_gj o (_ggj B P R Yars B A Rg & e ¥

1

3503/(Set : C)

Downloaded from cclchapter.com



(7) 3503/(Set : C)

5 3
(A) (5, -3) (B) (ﬁ’Zj
(C) (0,0 (D) =8 ¥ @3 -

Coordinate of mid point of line joining two points (g — gj and (—g,gj

are :
5 3
(A) (5, -3) (B) (ﬁ, Zj
(C) (0,0 (D) None of these
12. TIEC % A= #F @9 & T o7 - 1

“sec AR T -1 91X 1% &/ & aar &7

State whether the following statement is true or false :
"The value of sec A is always lies between -1 and 1"

13. SORC fh 9 B @ R @ o 1
“cosec A, cosec X A F T 2"

State whether the following statement is true or false :

"cosec A is the product of cosec and A"

14. B350 R 990 & 39 4 Brouds & 8=%a PEs Ho7 0° %, 87 1

B) -2 xxR2 B) —2 xzR2
360 180
(C) (32066 ejanQ (D) 38 9§ Pz 7l

Area of major sector of angle 6° of a circle with radius R will be :

3503/(Set : C) P.T.O.
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(A) %anQ (B) %XRRQ
(@) [3?306(; Gj x TR? (D) None of these
15. % T @ Bear 4 @9 8, O SOH U= aFA%d en 1
(A) 32m (B) 16w ¥
(C) 64n T (D) T8 9§ Pz 7l
CSA of hemisphere having radius 4 cm will be :
(A) 3271 cm? (B) 16w cm?
(C) 64n cm? (D) None of these

16. UH & UH S B U, &1 3 99 &l WAl affl 1

W< BS ©1 Do
Probability of getting 3 in a single throw of a die is :
W<  BS  ©1 Do
qUE - §
SECTION - B
17. = FIRW % V3 & AT @@ o 3

Prove that \/5 is an irrational number.

3503/(Set : C)
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18. T fEHIG §gUe & &g fores el & I qu o A 3 3T 2 81 3
Find a quadratic polynomial with the given number as the sum and
product of its zeroes respectively are 3 and 2.

19. T=E 6 W I Uh FH@ERX & & 9H W 87 H T=6 4 4 2 T6ih I
T U6 AR @ 81 & s 28 Hl 31 HHR & Sk A9 Hi@l 3
A vertical pole of length 6 m casts a shadow 4 m long on the ground
and at the same time a tower casts a shadow 28 m long. Find the
height of the tower.

20. cos 48° — sin 42° & AN 5q B 3
Find the value of cos 48° — sin 42°.

21. TF JaHR &d B 10 o i o HeX & W & ARk & @& 1,540 Fo &,
gd &l B Feifem (n = %j

3
Cost of ploughing at the rate of Rs. 10 per m? is Rs. 1,540. Find the
radius of circular field.
=7
T="—
7
gue - §
SECTION-C
22. R FHIHN &l & &I 4
5
1.5x- =-y+2=0
3 y
lx + 0.5y - 13 0
3 6
3503/(Set : C) P.T.O.
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23.

24.

25.

26.

27.

(10) 3503/(Set : C)

Solve the following equations :
5
1.5x-—-y+2=0
3 y

lx+0.5y—E =0
3 6

T THHOT BT # SaE 3@ oK § 7 AW HA ol AR & 13 AW & &, @
& & GO S e 4

The altitude of a right angled triangle is 7 cm less than its base. If the
hypotenuse is 13 cm, find the other two sides.

& 3fht arel fhaet e 3§ foury # ? 4

How many two-digit numbers are divisible by 3 ?

5 A Bewr & g @ 8 Sl el T St PO B P ok @ W Wt W WER
T g TI W8 F3dl 8 TP & TE S i, I g9 & &5 O ol 4

PQ is a chord of length 8 cm of a circle of radius 5 cm tangents at P and
Q intersect at a point T. Find the length TP, if O is the centre of a circle.

qT & 52 T Bl ST W8 A Bl T TH TSl H § T Gl M S 81 9
1 A ATl Tl T HA B AT &1 Hfow 4

One card is drawn from a well-shuffled deck of 52 cards. Find the
probability of getting the Jack of hearts.

39 Bet ® &=a sa ST, e oY (1, -1), (-4, 6) AR (-3, -5) 81 4

Find the area of a triangle whose vertices are (1, -1), (-4, 6) and (-3,
-5).

3503/(Set : C)
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qie - §

SECTION-D

28. F1 URAT 80 M TAT HIHA 400 W’ F UH IR Uh Hl ST €99 8 ? I}
2, @ SHE a=E oY AISE 39 i) 5

Is it possible to design a rectangular park of perimeter 80 m and area
400 m*? If so, find its length and breadth.

29. TAGMH cosec A —cot? A=1 & TN &, g T & : 5

cosA+sinA-1 1
cosA-sinA+1 cosec A+cotA

cosA+sinA-1 1
cosA-sinA+1 cosec A+cotA

cosec 2A - cot2 A=1.

Prove that

, using the identity

HAYqT
OR

A oM § T IS € AT 8 SR T EI NN M qXE S A § % U &
RReX 9 ® 7 @ 8 X 3Ed 30° F HIOT AR 21 IS b UE-Fg @,
et g 1 R i @ g R, 8 W R U A FEE S i

A tree breaks due to storm and the broken part bends so that the top of
the tree touches the ground making an angle 30° with it. The distance
between the foot of the tree to the point where the top touches the
ground is 8 m. Find the height of the tree.

3503/(Set : C) P.T.O.
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30. TF BT ABC SR ¥ BC = 6 @I, AB = 5 @1l 3iR ZLABC = 60° 3l

31.

32.

TH B @ i, e e AABC @ S el @l % TH B
F SAife § AT 5
Draw a triangle ABC with sides BC = 6 cm, AB = 5 cm and

ZABC = 60°, then construct a triangle whose sides are 3 of the

corresponding sides of the triangle ABC. Give the justification of the
construction also.

M 3 W H TH G 14 W &l TS % GIET Al 8 AR @A ) e e
F TIH T H BAGR 22 W X 14 H oI b YA S B3
TGN B HAR T BT 5

A 20 m deep well with diameter 7 m is dug and the earth taken out of it
has been spread evenly in the shape of a platform 22 m X 14 m. Find
the height of the platform.

T WY SRR & 100 FFEM (Surnames) T T ¥ IR ST wgE oSk
U @ STER] hl HEAT B I STReRaT & I gat ¢ 5
el g& | 1-4 | 4-7 | 7-10 |10-13|13-16| 16-19
HAAH H TN | 6 | 30 | 40 | 16 | 4 4
HATHEl F AeAh el B G G B

100 surnames were randomly picked up from a local telephone

directory and the frequency distribution of the number of letters in the
English alphabets in the surnames was obtained as follows :

Number of letters | 1-4 | 4-7 |7-10(10-13|/13-16|16-19

Number of surnames| 6 30 | 40 16 4 4

Find the median numbers of letters in the surnames.

3503/(Set : C)
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T
OR

el Sl & 50 sl @ 3 Forgd & e ded W RER #if ¢

& eIl (59| 100-120 |120-140|140-160|160-180| 180-200
A)

sffoent @l HeE 12 14 8 6 10

U SUGH Ay O A gY, I A & ARl H A A ARl
i1

Consider the distribution of daily wages of 50 workers of a factory :

Daily Wages (in Rs.) | 100-120 | 120-140 | 140-160 |160-180| 180-200

Number of workers 12 14 8 6 10

Find the mean daily wages of the workers of the factory by using an
appropriate method.

3503/(Set : C)
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(2) 3503/(Set : D)
° YA g7 F FUY 37 G {4 T W#@fﬂ?#ﬁgﬂf&ﬁ@??ﬁ%ﬁ
IYUT 37 T § 25 A aar :/37‘ R i3
Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G (7397 -
General Instruction :

() &H 77 offvard &

All questions are compulsory.

(i) FTTTHATFTI2 T Fawas o, § gavadae @e:
This question paper consists of 32 questions in all which are
divided into four Sections : A, B, Cand D :

G 57 G F1 G 16 7% T 16 F97 &, 9% J97 1 5% & &1
Section A : There are 16 questions from 1 to 16, each of 1 mark.
€ §: 37 @€ 417 §21 T 7 5 797 &, 9% 797 3 3% # &
Section B : There are 5 questions from 17 to 21, each of 3 marks.
g€ T : 59 7T 422 § 27 7% FT 6 F97 &, JO9% J97 & 5% # &
Section C : There are 6 questions from 22 to 27, each of 4 marks.
GUE 7 57 @S 4 28 @ 32 7% F7 5 F97 & H9% 9T S oH & &l
Section D : There are § questions from 28 to 32, each of 5 marks.
(i) GT T F @ Fo7 7§ SRE A% T T &1 I7H @ G J97 F I &1

Section D contains two questions where internal choice have been
provided. You have to choose one of them.

gus -
SECTION - A
1. IR g9k [LCM 3iR HCF & &% Tl & &, Al oH awed arm : 1
(A) g>1 (B) g<!I
€ g=1 (D) ™ 9 FE e

3503/(Set : D)
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If g and [ are LCM and HCF of two positive integers, then the relation

will be :
A) g>1 (B) g<lI
(C) g=1 (D) None of these
2. 39 § HF-G1 9gIe (Polynomial) 8 ? 1
A) 1++/x B) x2+1
1 1
© ———— D) —
x> +x%+1 x3
Which one is polynomial ?
(A) 1++/x (B) x°+1
1 1
© ———— D) —
x> +x%+1 x3
3. FHCT  a;x+by+c =0 AR a,x+by+c,=0 ¥ IR Z—;;t%, ar
Frefeied & @ S9-81 FF e ? 1
(A) FHIR @I (B) wfresfRa @
(C) Hurd Y@ (D) = & g Tt
If in equations a;x+bjy+c; =0 and ayx+byy+c, =0, 4 Z—l, then
as 2
which of the following is true ?
(A) Parallel lines (B) Intersecting lines
(C) Coincident lines (D) None of these
4. 3 § -G A P. 0 2 ? 1
A a a’, a3, ... B) 12,32%,5%,72 ...
) 1,3,3%, 3%, ...... D) a 2a, 3a, 4aq, ......
Which one is an A. P. series ?
A a a’, a3, ... B) 12,32%,5%,72 ...
) 1,3,3%, 3%, ...... D) a 2a, 3a, 4q, ......
3503/(Set : D) P.T.O.
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. (4)
5. A.P.2,7,12, ... % 2041 G & :
(A) -47 (B) 47
(C) 57 (D) 97

Inan A.P. 2,7, 12, ....

(A) -47

(C) 57

6. ﬁgﬁ%@ﬁﬁﬁqﬁﬁmgﬂwaﬁ%?

A
/\
(A) 70°
5 /A80°
A

3503/(Set : D)

20th term is :
(B) 47

(D) 97

VAN
WaN
FAS
VAN

3503/(Set :
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Which one pair of the triangles i 1s not similar triangles ?

’ /\
B
A
(B) /N
60°
B A C
A
o B
B

L D
D M N
(D) ) o ; -

7. I GUEY B @ €9 AemEel @ OAE 4 : 9 &, O B & &hen H

I © 1
A) 2:3 (B) 4:9
(C) 16:81 (D) 81 :16
3503/(Set : D) P.T.O.
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Ratio of corresponding median of two similar triangles are 4 : 9. Then areas
of these triangles are in the ratio :

(A 2:3 (B) 4:9
(C) 16: 81 (D) 81:16

8. 30 & S R g & g9 W feal wet Y@ &g wbd § 7 1
A) 1 (B) 2
(C) STURET &1 & 3% (D) 378 § HE el

How many tangents are drawn from a point on the circle ?

A) 1 B) 2
(C) Infinitely many (D) None of these

9. TF I P e § ot fbarl TMaY et 3@ 8 aedl § 7 1
(A) 1 (B) 2
€ 3 (D) FH q HE e
How many parallel tangents are drawn on a circle at the most ?
(A) 1 (B) 2
(C) 3 (D) None of these

10. f&g P(-3, -4) g agata & Rea B ? 1

(A) HEH B) fadi=
(© (D) =g
Point P(-3, —4) lies in which quadrant ?
(A) First (B) Second
(C) Third (D) Fourth

3503/(Set : D)
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(7 3503/(Set : D)
11wﬁg%ﬁmﬁ%ﬁu7@Mw&ﬁ%ﬁﬁ%mﬁMs

% ST | faaiiom wxar @ 1
@A) (1,3 (B) (-1, 3)
© (1,-3) (D) (=1, -3)

Coordinates of point which divide the line joining two points (-1, 7) and
(4, -3) in the ratio 2 : 3 are :

(A) (1, 3) B) (-1, 3)
€ (1,-3) D) (-1,-3)
12. SAEC & A9 =M g ' T e 1

“cosec 8 H M > 1 X < -1 B &”
State whether the following statement is true or false :

"The value of cosec 6 lies > 1 and < -1"

13. SAEC &% M9 =F g ' a1 I 1
“sin6=%ﬁv_€ﬁ‘4ﬂw9%m”

State whether the following statement is true or false :

"sin 6 = % for some angle 6"

14. B9 ra@ 39 & OF BFUGS H AFABA TR HOT PO R, BN ¢

A) L xonr B) —_xnr?
180 180

© -£ xonr D) L xonr?
360 720

Area of a sector of angle P° of a circle with radius r will be :
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(A) Lx2nr (B) anrQ
180 180
(C) ixQnr (D) i><27:r2
360 720
15. TF AN & Boar 84 2, A 36 SR & &b enm ¢ 1
A) 2mr? (B) nr2
(C) 2nr (D) 2nr3
Base area of hemisphere having base radius rcm will be :
A) 2mr? (B) nr2
(C) 2nr (D) 2nr3

16. U9 H TH g B U, & 7 ST & Wikl RN <1

w < ®1  ©o D3
Probability of getting 7 in a single throw of a die will be :
W< ®1  ©o D3
e - §
SECTION - B
17. = T & V2 T FuRAg de g 3

Prove that \/5 is an irrational number.
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18. % & 9g0e & i e el & 1T a1 o FA 5 AR 381 3
Find a quadratic polynomial with the given number as the sum and
product of its zeroes respectively are 5 and 3.

19. % gl B daR W 38 @R ol g8 & 6 39 Feen R der @ 2.5 @
T W B T 3 HIU R g & 6 W B AR W U fagd a% gaa
Bl WSl &l TR S o 3
A ladder is placed against a wall such that its foot is at a distance of
2.5 m from the wall and its top reaches a window 6 m above the
ground. Find the length of the ladder.

20. cot 85° + cos 75° H 0° X 17° & SF & &N & BEHCIHAT UG & W@ §
T T 3
Express cot 85° + cos 75° in terms of trigonometric ratios of angles
between 0° and 17°.

21. TF JOER &d & 10 o Hid & HeX Hl W & JaB & @A 1,540 Fo &,
& # fa P (n 2 Q_jj

3
Cost of ploughing at the rate of Rs. 10 per m? is Rs. 1,540. Find the
radius of the circular field.
=7
T=—
7
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22.

23.

24.

25.

26.

(10) 3503/(Set : D)

gues - 9
SECTION-C
Frriferiee @ 1 & i 4
V2 x + \/§y=0
\/gx—x/gy=0
Solve the following equations :
V2x+3y=0
\EX—\/§y=O

TrEes fafy & fEE @i V2x2 +7x+5¢2 =0 % g9 9 I 4

Find the root of the quadratic equation by factorization method
V2x? +7x+5J2 =0.

& 3P arel fhae el 4 9 faury # 7 4

How many two-digit numbers are divisible by 4 ?

59 Bear & g9 @ 8 A @ TH S PQ ® P 3RO W wsf 3@
WER & fog T UeE &l 8l TP&H TR 7d i, 3 g & &% O3l
4

PQ is a chord of length 8 cm of a circle of radius 5 cm. Tangents at P
and Q intersect at a point T. Find the length TP, if O is the centre of a

circle.

T H 52 I B S @ W B B UH TGSl A A UH G (e S g aAl
3T o T G I G B Bl TR ST BT 4

One card is drawn from a well-shuffled deck of 52 cards. Find the

probability of getting the queen of diamonds.
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27. 39 B B &% 71q Hiog Fres i (-1.5, 3), (6, -2) R (-3, 4) 81 4

Find the area of a triangle whose vertices are (-1.5, 3), (6, —2) and (-3,
4).
gug - ¢
SECTION-D

28. fE T 2x2 +kx+3=0 ¥ k & 99 A HiC & Ie@ & TR A 2l
5

Find the value of k for the quadratic equation 2x2 +kx+3=0 so that
they have two equal roots.

29, HIAMH sec’O—tan? 0 =1 & JAT &, G P & : 5

sin®—cos O +1
sin@®+cos0-1

=secO+tanb

Prove that s%n B L _ secO+tan®, using the identity
sin@+cos0-1

secQG—tanQG:I.

AYqr
OR

1.5 Mo a1 U SMEHT T frel & 28.5 # & g W 31 IgH! @ & o &
MR 1 S BT 45° 31 oA B Hare FaRy

A man 1.5 m tall is 28.5 m away from a Chimney. The angle of
elevation of the top of the Chimney from her eyes is 45°. What is the
height of the Chimney ?
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30. & BIYsT ABC 93u foed BC = 7 8, «B = 45°, ZA = 105° &l {4 %

o1 B o T A B T AABC # T g A S A T
1 M o i 5

Draw a triangle ABC with side BC = 7 cm, /B =45°, /A = 105°,

. . 4 . .
then construct a triangle whose sides are — times the corresponding

sides of AABC. Give the justification of the construction also.

31. FAM: 6 AW, 8 FH oI 10 T Browretl a o1y & dF o Tl H EAER W
g7 39 Ml I9491 T 81 39 M 3 Brewn 5 Fifms

Metallic spheres of radii 6 cm, 8 cm and 10 cm, respectively are melted

to form a single solid sphere. Find the radius of the resulting sphere.

32. ¥ R gan € uF A & 30 fEREl & AR @ @ 5 Rl & aew
AR FG HIT 5

AR (FFER™ #)| 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

foenfoat @t 2 3 8 6 6 3 2
e

The distribution below gives the weights of 30 students of a class. Find

the median weight of the students :

Weight (in kg) |40-45|45-50 | 50-55 | 55-60 | 60-65 | 65-70 |70-75

Number of 2 3 8 6 6 3 2

Students
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YT

OR

Frifoiad arell 35 TR & @’ & (Sfaed #) Il ©1 " SRl & S
HIfoTT

HERAl X (% #)| 45-55 | 55-65 | 65-75 | 75-85 | 85-95

TR # ge 3 10 11 8 3

The following table gives the literacy rate (in percentage) of 35

cities. Find the mean literacy rate :

Literacy rate (in %) [45-55| 55-65 | 65-75 | 75-85 | 85-95

Number of cities 3 10 11 8 3
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